
Assembly instruction
Part Number: 
Description: Revision date: 2025-03-24

RR180627000
Roof bar kit Transit 14- L2-L4 H2/H3, 2 bars

1x

4x 27200-03 2x4x 27215-03

8x M88x M8x16 4x M8x25

4x 27290-03

Max.

i

Max.

1

10 10

M8x25

20Nm

M8x16

M8

20Nm

3

2

27215-03

27215-03


